

$$\begin{cases} a_1 = r_0 \\ a_k = q_1 \leadsto a'_1 + r_1 d = q_1 \leadsto r_1 d = r_1 \Rightarrow \underline{\underline{d = v}} \end{cases}$$

$$a_n = K_0 + \frac{(n-1)V}{V_n - V} = \frac{V_n + K_0 V}{V_n - V}$$

$$V_n + \Psi \Psi = \Psi_0 \Lambda$$

$$V_n = 1V_{cc}$$

$$n = \underline{r\omega} \rightsquigarrow \underline{a_{r\omega}} = r\omega$$

ادین عدد با شرط داده شده $14(v) = 9A + 3 = 101$

$$\star \quad 999 \text{ } \overline{111} \quad 999 - 111 \rightarrow \begin{array}{r} 999 \\ - 111 \\ \hline 888 \\ - 111 \\ \hline 777 \\ - 111 \\ \hline 666 \end{array}$$

101, 102, ..., 999

$$I_{\text{load}} = \left(\frac{99V - 101}{V} \right) + 1 = \left(\frac{194}{128} \right) + 1 = 1.99 = n$$

$$\left. \begin{aligned} a_{n+1} &\Rightarrow a_n = a_1 + nd \\ a_{n+r} &\Rightarrow a_n = a_1 + (n+r)d \\ a_{n+r} &\Rightarrow a_n = a_1 + (n+r)d \end{aligned} \right\} \begin{aligned} &\xrightarrow{\text{subtr.}} \frac{ra_1 + (r+n)r d}{\cancel{r nd} + r d} = \frac{4n+1r}{\cancel{4n} + r} \quad \begin{aligned} &\star r d n = -4n \\ &r d = -4 \\ &d = -r \end{aligned} \\ &\Rightarrow ra_1 - 4n - 4 = -4n + 1r \\ &d = -r \quad \star a_1 = 1 \Rightarrow \underline{a_1 = 4} \quad \leadsto a_n = 4 + \frac{(n-1) \cdot r}{-r+n} = -r n + 4 \end{aligned}$$

$$\left. \begin{aligned} a_{14} &= \underbrace{-r(14)}_{-14} + n = -r_4 \\ a_n &= \underbrace{-r(1)}_{-1} + n = -n \end{aligned} \right\} \quad a_{14} + a_n = -r_4 - n = -r_4$$

$$\begin{aligned} ar &= r^n - 1 \\ a_n &= r^{n+1} \\ a_{1r} &= r^m - r \\ \hline x &= r \Rightarrow \\ \left. \begin{aligned} ar &= r \\ a_n &= r \\ a_{1r} &= r \end{aligned} \right\} ar + a_n + a_{1r} &= r^3 \\ * = d &= \frac{a_m - a_n}{m - n} \end{aligned}$$

$$\begin{aligned} & \begin{cases} a_{1,1} + a_{1,r} \\ a_{1,1} + r d - a_{1,1} = 0 \rightarrow r d = 0 \rightarrow d = \frac{0}{r} \\ a_{1,1} + a_{1,r} + r a \\ \downarrow \\ r a_{1,1} + r d = r a \rightarrow r a_{1,1} = \frac{r a - 0}{r} \rightarrow a_{1,1} = 1 \quad \therefore a_{1,r} = \frac{a_{1,1} + r d}{1} = 1 \end{cases} \\ & a_{r,1} = \frac{a_{1,r} + q d}{1 + q \left(\frac{a}{r} \right)} = 1 + \frac{r a}{r} = \frac{r a}{r} = r \sqrt{10} \end{aligned}$$

$$S_0 = \frac{a_1 + r a_1}{r} = \frac{a_1(1+r)}{r} = a_1 + \frac{r a_1}{r}$$

$$S_1 = S_1 - S_0 = \frac{a_1 + r a_1}{r} - (a_1 + \frac{r a_1}{r}) = a_1 + r a_1$$

$$a_1 + r a_1 = \frac{1}{r}(a_1 + r a_1) \Rightarrow \frac{a_1 + r a_1}{r} = a_1 + r a_1 \Rightarrow 1 a_1 + r a_1 = a_1 + r a_1$$

$$\frac{a_1}{a_1} = \frac{a_1 + r a_1}{a_1} = \frac{1 + r}{1} = r \Rightarrow r = 1$$

$$t_n = t_{n-1} + 1$$

$$\begin{cases} t_n - t_{n-1} = 1 \\ t_n - t_{n-1} = r d \end{cases} \Rightarrow \begin{cases} 1 = r d \\ d = \frac{1}{r} \end{cases}$$

$$t_q - t_0 = \frac{(t_q - t_0)(t_q + t_0)}{r d} = \frac{(t_q^2 - t_0^2)}{r d} = r \cdot (t_q + t_0)$$

$$\frac{t_q^2 - t_0^2}{t_q} = \frac{r \cdot (t_q + t_0)}{t_q} = r \cdot \left(1 + \frac{t_0}{t_q}\right)$$

$$\begin{cases} a_1 = r(1 - \sqrt{r}) \\ a_n = r + \sqrt{r} \end{cases} \Rightarrow d = \frac{r + \sqrt{r} - r(1 - \sqrt{r})}{-1 + 1} = \frac{1 + \sqrt{r}}{r} = \sqrt{r}$$

$r = 1, r$

$$d = \frac{b-a}{n+1}$$

$$a_1 = r$$

$$a_n = r r \Rightarrow a_{n-1} = r r$$

$$F_n = r r$$

$$n = 11 \Rightarrow a_{n+1} = 11 \Rightarrow a_1 + n d = 11 \Rightarrow r + n d = 11 \Rightarrow d = \frac{11-r}{n}$$

$$F_n = r r = \frac{r(r + (n-1)d)}{2} = r r \Rightarrow a_1 + (n-1)d = r r \Rightarrow (r + (n-1)d) \frac{r}{2} = r r$$

$$r(n-1) = r n$$

$$4n = 18 \Rightarrow n = 4.5$$

$$a_n + a_{n+1} = a_1 + a_2$$

$$t_m + t_n = t_r + t_s \Rightarrow r + t_v = r \Rightarrow n + t_v = r \Rightarrow r n = 14 \Rightarrow n = 14$$

$$a_n = r a_1 \Rightarrow a_n = r a_1 \Rightarrow a_1 + r d = r a_1 \Rightarrow r d = r a_1 \Rightarrow a_1 = r d$$

$$a_r = a_1 + d = -d + d = 0 \Rightarrow a_r = 0$$

$$-d, 0, d, \dots$$

$$a_1 = -d$$

$$S_0 = \frac{\omega}{r} (a_1 + qa) = \frac{10a_1 + r0d}{r} = \frac{\omega}{r} (a_1 + rd), \quad \omega a_1 + 1 \cdot d$$

$$S_1 = S_1 - S_0 = \frac{\omega}{r} (ra_1 + qd) - (\omega a_1 + 1 \cdot d) = \omega a_1 + r0d$$

$$\omega a_1 + 1 \cdot d = \frac{1}{r} (\omega a_1 + r0d) \Rightarrow \frac{\omega a_1 + 1 \cdot d}{\frac{1}{r}} = \omega a_1 + r0d \Rightarrow 10a_1 + r0d = \omega a_1 + r0d$$

$$\frac{a_r}{a_1} = \frac{a_1 + d}{a_1}, \quad \frac{\frac{d}{r} + \frac{rd}{r}}{\frac{d}{r}} = \frac{rd}{\frac{d}{r}} = r \quad \therefore$$

$$10a_1 = \omega d \Rightarrow ra_1 = d \Rightarrow a_1 = \frac{d}{r}$$

$$t_n = t_n - r + 10$$

$$\left. \begin{aligned} t_n - t_n - r &= 10 \\ t_n - \frac{t_n - r}{r} &= r0d \end{aligned} \right\} \begin{aligned} 10 &= rd \\ d &= 0 \end{aligned}$$

$$\begin{aligned} t_q - t_0 &= r \Rightarrow \frac{(t_q - t_0)(t_q + t_0)}{rd} = \left(\frac{r}{r}\right) (r + v) = r \cdot (r + v) \\ \frac{t_q - t_0}{-tv} &= \frac{r \cdot (r + v)}{tv} = f_0 \end{aligned}$$

$$\left. \begin{aligned} a_1 &= \frac{r(1 - \sqrt{r})}{r - 1 - \sqrt{r}} \\ a_n &= r + \sqrt{r} \end{aligned} \right\} d = \frac{r + \sqrt{r} - r + 1 - \sqrt{r}}{-1(r + 1) - 1} = \frac{1 - \sqrt{r}}{-r} = \sqrt{r}$$

$k=1, 11$

$$*d = \frac{b-a}{n+1}$$

$$a_1 = r$$

$$a_n = r0r \Rightarrow a_{n-1} = r0r$$

$$f_n - r_0$$

$$k, n, q, 11 \Rightarrow a_{n+1} = 11$$

$$\begin{aligned} \text{check} &= f_n - r + r = f_n - 1 \\ &= 11 \end{aligned}$$

$$*a_{n-1}, a_1, \dots, f_n - r$$

$$d = \frac{a_n - a_1}{n - 1} \Rightarrow d = \frac{a_{n+1} - a_1}{n + 1 - 1} = \frac{11 - r}{n} = \frac{q}{n}$$

$$d = \frac{a_{n-1} - a_{n+1}}{n - 1 - n - 1} = \frac{r0r - 11}{r0r - r} = \frac{r1}{r0r - r}$$

$$\frac{q}{n} = \frac{r1}{r0r - r}$$

$$r1n = r0r - 11$$

$$11 = r0r \Rightarrow n = r0$$

$$a_n + a_{n+d} = ar + div$$

$$t_m + t_n = t_r + t_s \Rightarrow r + tv = r_0 \Rightarrow n + n + d = r_0 \Rightarrow r0 = 11 \Rightarrow n = 11$$

$$a_n = r0a_n \Rightarrow a_n = r0a_n \Rightarrow a_{n+d} = r0a_n \Rightarrow fd = r0a_n \Rightarrow a_f = rd$$

$$a_1 + rd = rd \Rightarrow a_1 = -d$$

$$ar = a_1 + d = -d + d = 0 \Rightarrow ar = 0$$

$$-d, 0, d, \dots$$

$$\hookrightarrow a_1 = -d, 0$$